TARGET To recognise and write decimal equivalents of tenths.

Examples

A

Write the shaded part of
each shape as:

a) a fraction
b) a decimal fraction.
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Write as decimals.
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(5 Write each letter as:

a) a fraction
b) a decimal fraction.
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@ Write half a metre as a
decimal.
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Give the value of the
underlined digit.
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Give the next four terms in
each sequence.
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Write each letter as:
a) a fraction or mixed

number

b) a decimal.
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o Write the shaded part of
each shape as:

a) a fraction

b) a decimal fraction.

Copy and complete.
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TARGET To recognise and write decimal equivalents of tenths and

hundredths

Examples

six tenths

A

Write the shaded part of
each shape as:

a) a fraction

b) a decimal fraction.
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Copy and complete.
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Write the shaded part of
each shape as:

a) a fraction
b) a decimal fraction.
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Copy and complete.
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Give the value of the
underlined digit.
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Write as decimals.
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order, smallest first.
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ive the answer as a decimal.
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TARGET To recognise, write and know the place value of decimal -
equivalents of tenths and hundredths.

Examples
B
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A

Write each of the letters as:
a) a fraction
b) a decimal fraction.
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Write the shaded part of
each shape as:

a) a fraction
b) a decimal.
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Write as decimals.
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A=05
B =043

The 5 has a value of .
The 4 has a value of -&.
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The 3 has a value of == 185"
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Write each of the letters as:
a) a fraction
b) a decimal fraction.
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Give the value of the

" underlined digit.

€ o4
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0 o03
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€ o1 @ 094

Write as decimals.
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Write the decimal shown on

each abacus.
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Give the value of the
underlined digit.
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TARGET To find the effect of dividing 1- and 2-digit numbers by
10 and 100.

Dividing by 10, digits move one place to the right.
Dividing by 100, digits move two places to the right.

Examples

A

Use a calculator.
Copy and complete.

© 47-10=] |
©:2-10-]
©55:10=[ |
Qo-10=] |
© 69-100= ]
o4+100:|:,
©@ 52-100=[ ]
© 20 -100=] ]
© -] |=-73
D s+ |=0s86
@ 1] |=o00
Q13| |-18
@® 38+ |=038
Qo6+ |=06
D o1+ |=91
O 40+ |=04
@[ |-10=59
O] ]+10=03
D[ |-10=94
D[ |+100=01
€& [ ]+100 =007
€[ ]+100=032
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8+10 =08 — =

38+10 =0-38 —
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Do not use a calculator.
Work out

€ s57-10 € 9 +100
@ 910 @ 9+100
Oc-10 © 87+100
@ 41+10 O 60+ 100
@410 @ 53+100
©23-10 @ 5+100
Do not use a calculator.

Work out and give the value
of each digit.

®35+-10 @ 78+100
@s+-10 €)2+100
Bs1+-10 & 25+100
@D 7610 €2 40 =100
@310 € 34+100
O42+-10 @ 7+100

Do not use a calculator.
Copy and complete.

D14+ |=14
D61 - |=o061
€)) |+10=08
@D;mo =07

Use a calculator to check your
answers for questions 1 to 28.

5 %100 = D05 — =2

3 8 9
-3+ 8 95 + 100 = 0-95 — 2 + 5
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Do not use a calculator.

Divide by 10.

© 364 © 072
© 126 @ s
© 1607 @ 905
© 589 © o213
Multiply by 10.

© o031 ® 912
@O 3403 @ 2177
@356 @ s04
@ 1008 @ 7429
Divide by 100.

D195 @ 704
D son @ 4279
D s67 €& 640
D 2920 €D 3068
Multiply by 100.

D 1451 €) 593
D306 € 6319
@242 @ 282
D 7007 @ 3625

Copy and complete.
@ 8mm = Dcm
@ 71cm = Dm
€D 263m=[ |cm
@ 4.7cm = Dmm
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